[ e
=\ HEH
1. I AT X~B(n,p), E(X)=np

2k E(X?) = ;k Cyp'q"™"

Z(k(k 1)+k)k'(n or” pq""

(n—-2)!

L Yree s sy
=n(n —l)p2 +np

JIT A D(X)=E(X*)-(E(X))*=npq

2. AR X~P(M), E(X)= A

/\k -A
oy E(XT) = ;kz
_ 00 _ )\ke_’\
= ;[(k 1) +1] =D

k=2 (n—-2)—(k-2) + .

n! k _n—k

2 G-’ “




_ © /\k—Z . 0 /\k—l
B ; (k—2)!/\ e Z (k—1)!
=A*+A

JiT LA D(X)=E(X*)-(B(X))*= A

a+tb

3. BT X~U(ab),E(X) =

PR E(X7) =be2 biadx :%(b2 +ab +a?)
(b-a)’

it LA DX)=E(X)-(EX))’ ™ 12

4, 8B X~E(M) EX)=1/A

Ax=t

Ae™

+00 _ 1 +00 _ 2
L EXH)) = Axle™dx = — [ t*e’dt=
jg( ) J’O x“e Mdx )\2‘[;) e 3

_2

1, _1
B DEO=ECO-EX) A2 A &

5.  IEADAT X~N(p, 0% ,EX)= u
D(X) = E[X - E(X)T’




= (x—-p)° e %7 dx
J._w A 2TTO
ﬂ:t 2 1‘2
0'_ +oo O 2 —? _ 2
= t‘e *dt=0
|y

B 2: WX RMIESDAT N(r, o)d, KXELEXE (n-30, n+30) NAEIHER.

+30-_ —30'_
i - P{/J—3G<X</J+3a}:(p(/’l _ H)_(p(ﬂ a IJ)

=¢3) ~9(=3) =¢(3) ~[1 - ¢(3)]
=2¢(3)—1=2x0.99865-1
=0. 9973

ATLVEH X mEA(n-0, n+o),(u
20, w+20)FBERA/NTHEAN (0 -3
o, w+30) MR, X5 2
(7] “3 0 KN,



	方差

